
Spiel 1 Spiel 2 Gesamt

Spiel 059 20:39 C 2 ÖLLERMEIER Fritz 45 + 50 = 95 # O

D 1 KLAUSER Johann 54 + 57 = 111

Spiel 060 20:47 C 1 LINDORFER Klaus 51 + 51 = 102 #

D 2 EXENBERGER Johann 51 + 49 = 100 O

Spiel 061 20:58 C 5 AIGNER Ernst 39 + 52 = 91

D 5 BURESCH Karl 52 + 55 = 107 #

Spiel 062 21:05 C 4 PANHOFER Josef 53 + 52 = 105

D 4 KÖCK Ernst 53 + 40 = 93 #

Spiel 063 21:13 C 3 HAHN Ernst 56 + 54 = 110 #

D 3 PRINZ Josef 55 + 50 = 105 O

Spiel 064 21:26 V 059 ÖLLERMEIER Fritz 54 + 56 = 110 # # #

V 060 EXENBERGER Johann 55 + 60 = 115 #

Spiel 065 21:34 S 059 KLAUSER Johann 64 + 54 = 118 # # #

S 060 LINDORFER Klaus 46 + 52 = 98


